#H & 3 B F O
T &l LUl % LA i5s i}
M B kR
B o O+ L E2
i H T 2
#iz il m® 0.
B ¥ + T E2
IR 98 m”
il = L RC-40 m® 0.
oL T E2
%BooLoa B m® 0.
Pk L E2
o oW T E2
BT ZE O KC74-56004H 24 it m
BT X TO© KC74-56004H 4 it m
7R IR WNE) JS74-L7004H 24 it m
BT ZE @ KC74-56004H 24 it m
# & E T O Tfli(?o/‘?/?/o](iﬁ f&HT
%= &R E T O T7164(?07j>‘§/?/0](i'i* f&HT
£ Kk LT
®£OKk  BEA 300 X 300A & T
£k # B 500 X 500 X 600 & T
BIRT
o = | TS T AR S R

¢ 300, ¥ 7 L &




H B HoOE (2
T il il Bl i Bl #l % s T
il %k T 1
27 U — | ]
& £ T
2y = | R 5
L TR A
it i € RC—40, t=100 5
s W E T 1
e vE W B LT 1
2 7 U — K
M YE b Ev BE L ANTTEUEEL 0.9
2 7 J — K 0.7
& % B L :
a7 U — MUk t=15cmPA T 45
BN L S 1
ﬁ/\‘/\‘ N -
- i e | = jéjU k, 0.9
X i ilve B2 U—h 0.7
X A o M= 7 U — h 0.9
734 AL 43 a7 ) — b 0.7




+TERE

I

HEREL
RC—40

7 ALt

Tl
=+

ﬁuu
—+

OULE: = U — ST
CADHEIZ L 1
5.40 X 0.10

Q@ERT

BRTHEAEEFRE, FEKLY

0.45 X 2.30

Q@ERT

BRTHEABEFRE, FEKEY

0. 36 X 2.30

S
PR

ML

C $EH + K ) —

1. 58 — 0.83 /0.9

( B+ +

M< < Mo < <

) /0.9

0. 54

1. 04

0.83

1. 58

0.00

0.5

1.0

0.8

1.6

0.8

0.7




|
HEKMEY) LRI E

HRE T
BT TO
HGTREET.O
BT ET.O
BT T@
HhkE TO

500X 500 F
EhGEE T.O
600 X 600

LK T

£E KA
(300 X 300A)

FEKMEB
(500 X 500 X 600)

N=

N=

L=

FHEE LD
5. 00

FHEE LD
5. 00

FHIE LD
9.30

FHEE LD
7.00

FHE LD
1. 00

PHE LD
1. 00

FHIE LD
1. 00

X LD

1. 00

FHE LD
2.30

.00

.00

.30

.00

.00

.00

.00

.00

.30




Bl

5

T

g

=

5

T O

oL (IOm%@)
DO
3241 — (24-8-25BB)
B2 5 (D1 3,SD3 45) 4 &
¥ #5 (D 13, SD3 45) @2 00
8E Q a il //
3 1BEE B (KCT 4 —L 60048 X&)
| Lou-re
gm >4 Y— b (18-8-40BB)
Y 3= #5 (D1 3, SD3 45) @2 00 L= 300
£ i H = =¥ VAR ¢ &=
R a E T L= = 10.000 m 10. 00
R R AP N= 10.000 = 1.000 = 10.000 H 10. 00
KC7+—hfH 24 &
(600H)
a7 Y—Fk V= 0.900 X 0.130 X 10.000 = 1.170  m® 1.17
(24-8-25BB)
EZNiL] A5 (@200)
(D13) L= 10.000 =+ 0.200 X 0.820 = 41.000 m
B 1 (44)
L= 10.000 X  4.000 = 40.000 m
> = 81.000 m
W= 81.000 X  0.995 = 80.595 kg 80. 60
D13 : 0. 995kg/m
a7 Y—Fk V= 0.150 X 0.450 X  10.000 = 0.675  m® 0. 68
(18-8-40BB)
R A= 0.450 X 10.000 = 4.500 m? 4. 50
EZNiL] @200
(D13) [= 10.000 =+ 0.200 X 0.300 =  15.000 m
W= 15.000 X  0.995 = 14.925 kg 14. 93
D13 : 0. 995kg/m
HIFL N=  10.000 -+  0.200 = 50.000 f&fT 50. 00

¢ 13




T % &£ T © (10m%4 1)

2>y — bk (24-8 -25BB)

%0

910 ‘

8

Behfm (D13, D34 5) 4K
¥ 5 (D13,SD345)@200

Z I

B

AU A R R e 1 T
I FH S R A A
KC7+—bFH 24 /iy
(600H)
a7 )—5h
(24-8-25BB)

7S]
(D13)

a7 J)—h
(18-8-40BB)
[@] FAR R

7S]
(D13)

Hill£L
¢ 13

A5 (@200)

il 15 (47K)

A= 0.450 X

o .//)V
0
8 18 ER A (KC 74— L6004 &)
H a vy —REE
B[H 3% y—k (18-8-4088)
Z=#7 (D13, SD345) @200 L =300
150
H R VAR ='d
= 10.000 m 10. 00
1. 000 = 10. 000 | K¢ 10. 00
0.940 ) —+ 2.000
X 10. 000 = 1.229 m?® 1.23
0. 200 X 0. 860 = 43.000  m
4. 000 = 40.000  m
> = 83.000 | m
0. 995 = 82.585 | kg 82.59
D13 : 0.995kg/m
0.190 ) =+ 2.000
X 10. 000 = 0.765 m® 0.77
10. 000 = 4.500 | m? 4. 50
0. 200 X 0. 300 = 15.000 m
0. 995 = 14.925 | kg 14. 93
D13 : 0.995kg/m
0. 200 = 50. 000 f&FT 50. 00




B % 7T M ® &

T ©

(10m4 )

IRSITEEETO
2@
{
av4y ) —+ (24-8-258B)
Eh & (D13,SD345) 5&
T8 (D13, SD345)@125
o eﬂy
-1 [ S I
BRI (US T +—LT00M 2 &)
£ i H B BN % =%
R aE T L= = 10.000 m 10. 00
R R AP N= 10.000 = 1.000 = 10.000 H 10. 00
JS7+-bFEY
(700/H)
a7 Y—k V= 0.960 X 0.130 X 10.000 = 1.248  m® 1.25
(24-8-25BB)
EZNiL] A5 (@125)
(D13) L= 10.000 =+ 0.125 X  0.860 =  68.800 m
B S5 (5A)
L= 10.000 X 5.000 =  50.000 m
> = 118.800 m
W= 118.800 X  0.995 = 118.206 kg 118. 21

D13 : 0.995kg/m




B T oEE O (10m%4 1)

780

av9Y —+ (24-8-258B) —

B2 #1%5 (D13,5D345) 4K
F# (13,30 345)@200

o
Q . fa) N N

1BE B (KC7 +— L600HH B )

£ i H A BN & &
R aE T L= = 10.000  m 10. 00
T AP N= 10.000 +  1.000 = 10.000 A&« 10. 00
KC7+—hfH 24 &
(600H)
a7 Y—Fk V= 0.780 X 0.130 X 10.000 = 1.014 m® 1.01
(24-8-25BB)
EZNiL] A5 (@200)
(D13) L= 10.000 =+ 0.200 X 0.700 =  35.000 m
B 5 (44%)
L= 10.000 X  4.000 = 40.000  m
> = 75.000 m
W= 75.000 X 0.995 = 74.625 | kg 74. 63

D13 : 0.995kg/m




- =L
# B o ® B T O
( 50 X 500 M ) (&P 0)
B B8Bx45 N
Q O o5 5
nl a
,9[ [ I @
RIB 50 %7 x4 8 8 - )7 IJ_ '\
. (18-8-25B8)
o an il
= — =
150 il 320 /l\ 19
4 i E B =R VAR &=
ERREE T N= 1.000 = 1.000 1. 00
( ZEFEE=41. 4kg/ 5 )
7L —F 7% N= 1.000 = 1.000 H 1. 00
(T-14, 500 X 500 )
a2 27—k Vi=  0.095 X 0.070 X 0.620 = 0.004
(18-8-25BB) V2= 0.035 X 0.070 X 0.620 = 0.002
¥ =  0.006 m’ 0.01




—- =Ju
= WM O ® B I ©
( 600 X 600 )5 ) (1f&PT4 1Y)
3
35.3 L 71x 60x6
M7 L-b
FB 44x 4.5
=) =I\ =
10,
o)
ol W S avyl)—b
RIB 55x 7x4 =R = (18-8-25BB)
= —ﬁso £ £ D130200 L=300
> R L150 )
| \— ——F
YARRA— 150 /l\ 435 4‘\150 ©
84\\/ 567 84 HR
¢2
6 713 6
5 5
735
£ i &t B =V iVARE~'¢ 5
ERREE T N= 1.000 = 1.000 1. 00
( BEFEE=57. 6kg/H )
T L—F 7% N=  1.000 = 1.000 H 1. 00
(T-14, 600 X 600 )
2> Z7Y—Fk Vi=  0.080 X 0.070 X 0.735 = 0. 004
(18-8-25BB) V2=( 0.150 + 0.200 ) - 2.000
X 0.570 X 0.735 = 0.073
PEpR
V3= 0.070 X 0.070 X 0.735 0. 004
> = 0.073 m® 0.07
i P Al= 0.570 X 0.735 = 0.419
A2=( 0.150 + 0.200 ) = 2.000
X 0.570 = 0. 100
PEbR
A3=  0.070 X 0.070 0. 005
> = 0.514 m? 0.51
EZNiL] @200
(D13) = 0.735 <+ 0.200 X 0.300 = 1.103  m
W= 1.103 X 0.995 = 1.097 kg 1.10
D13 : 0. 995kg/m
HilFL N=  0.735 =+ 0.200 = 3. 675
613 = 3.000 f&7T 3. 00




300 X 300A ) (102£59)
EY/ Q1
300 x 300A
® [ 7]
g8
;(S%izisfb:*/’i'}fb
% el
8 620 "
MEKMORIFAERIX. BEOHMAEICEHLETHELIT I &
v PR it H BAT =
M FPUBHFES & N= 1.000 X 10.000 10. 000 10. 00
(300 X 300A) ( ZEHEBE=178kg/H )
JL—F 7% N= 1.000 X 10.000 10. 000 #¢ 10. 00
(T-25, 300 % 300)
A2 N—FK V= 0.050 X 0.300 X 0.300 X 10.000 0.045 m® 0.05
a7 U—h
(18-8-25BB)
Hptar 7 U—k V= 0.620 X 0.620 X 0.100 X 10.000 0.384 m® 0.38
(18-8-25BB)
[A] b7 P A= 0.620 X 0.100 X 4.000 X 10.000 2.480 | m? 2.48
FMERA A= 0.720 X 0.720 X 10.000 5.184 | m? 5.18
(RC-40, t=10cm)
FemmHE I A= 0.720 X 0.720 X 10.000 5.184 | m? 5.18




£ 7K g B
( 500 X 500 X 600 ) (102£59)
f==igt
720 500 xh00 = 600
110, 500 110
99 2
b bY
] | H
e ! | 4uR—bkavhy—t
{ ! (18-8-25B8)
O% [
S i ~ X
HEtaovs)—k
720 (18-8-2568)
R
(RC-40)

v PR it B =V iVARNE~'¢ =
M FHASHHES & N= 1.000 X 10.000 = 10.000 %t 10. 00
(500X 500 X 600) ( 2 EE=342. 8kg/ Ik )

JL—F 7% N= 1.000 X 10.000 = 10.000 #% 10. 00
(T-25, 500 X 500 )

A2 —FK V= 0.050 X 0.500 X 0.500 X 10.000 = 0.125 m?® 0.13
a7 U—h
(18-8-25BB)

Hptar 7 U—F V= 0.720 X 0.720 X 0.100 X 10.000 = 0.518 m® 0.52

(18-8-25BB)

[A] b7 P A= 0.720 X 0.100 X 4.000 X 10.000 = 2.880 | m? 2.88

FMERA A= 0.720 X 0.720 X 10.000 = 5.184 | m? 5.18
(RC-40, t=10cm)

F e A= 0.720 X 0.720 X 10.000 = 5.184 | m? 5.18




Lt
v

( ¢ 300

(10m4 )
)
BEL (RCH40)
5]
700
v PR 7 B BAT =
MrEPEKE L= 10.000 10.000 m 10. 00
(FF 734 ZABI D 3004824 )
BT
R V= 0.700 X 0.642 X 10.000 4,494 @ m® 4.49
HEL V= 0.700 X 0.642 X 10.000 4. 494
(RC-40) 548
V= /4 X 0.342 "2 X 10.000 -0.919
> 3.575 | m® 3. 58
FmmHE I A= 0.700 X 10.000 7.000  m? 7.00




o>

e TR &

T

2/ - MEE T

HLIE

a7 U— MR
(t=12cm)
21-8-25

i
(RC-40, t=10cm)

B

A=

CADHEIZ L1

CADHIEIZ L1

5. 40

5. 40

5.4

5.4




(100m2%4 1)

. - avy)—+

HE T KE (21-8-25BB)
BEEH

(150 x 150 x D6)

o
AN
N

120

7f<i;
-
.
-

i

(RC-40, t=10cm)

4 PR it H BN % iy
a7 J—Fk V= 100.000 X 0.120 = 12.000 | m*® 12. 00
(21-8-25BB, t=120mm)
A4 A= = 100.000 m? 100. 00

(150X 150 XD6)




|
S LR R

&Y BUE LT
a7 J—Fh
FEEY HEE L
NI Vi=
Vo=
V3=
V4=
Vb=
V6=
a7 J—Fh
FEEY HEE L
V1=
V2=

oy U— MW | L=
(t=15ecmLL )

TEHR AL T

nXL%
EpHar s )—1) (V=

B

@farry—1) (V=

ALy

(= s )—p) (V=

Ly
#farry—1) V=

s

@G T TO
TIEX, FmX &
0.02 X 5. 00
@IS TO
TYER, FmEEK LD
0.02 X 5.00
@I HIIEE TO
TIEX, FmEX &0
0.04 X 9. 30
@IS L@
TYER, FmEEK LD
0.04 X 7.00
@ =Gk iE TO
TYEK LY

0.01 X 0. 62
@ =GR iE @
TEMEY

0.01 X 0.74

!

@ /U — Mgtk
CADHIEIZ LV
4.50 X 0.12

@ SLE BT (A
TRV ELK LY
0.06 X  2.50

T

5.00 + 5.00

7.00  +  7.00
0.74
Xﬁ%ﬂ@%f1®®ﬁm

R E T O,

REEMIREE L (ANJ)) L0

0.87
MHEMIUEL LV
0.69

ARIERR LD
0. 87

ARIERR LD
0.69

o

.10

.10

.37

.28

.01

.01

.87

.54

.16

. 69

.58

.87

.69

. 87

.69

0.9

0.7

44. 6

0.9

0.7

0.9

0.7




o= it B OE Q)
I fE BBl Moo Rl oo HANT B T
T8 T 2 40 2
HO¥K O+ T = 1
7] Hil T ® 1
7] Hll m® 2
B % + T X 1
I3 #E m® 19
= A+
woR L (BB m .
P 'R = 1
% + o B m® 2
ek #E & T ® 1
181 1% T X 1
uoom 3fi, 300C m 32
ay 7Y —h#H 37, 3001 e 62
S s e | OTE, 300, X B AL
Jv—F T HE e — A B 2
£ Kk M T
£ Kk # C 300 X 300C I 1
il %k T =Y 1
7 A7 7k HAeBRET Aoy
W % Jei TOP13, t=40 m” 20
J: E E% ﬁ% I *‘jggﬁgﬁ?‘ﬁ 1’I12 20

M-30, t=100




¥ B R ®H OEF (©Q

T il filt ll} pi] alll # ¥ BN &=
ARG 7/ 2V
WEmIE L L 1
2 v 7 U — bk 4
& W B L
;ﬁ ; Hji h Lé t t=10cmpA F 20
wowomowow | 77T 34
SULRNE ' S U R 1
X i ilve M= 7 J— h 4
X i il TAT 7 b 0.8
X A o M= 7 J— h 4
X L 9 TAT 7 0.8
e T
e LEDZ It
gsb a7 U — b 18-8-25BB 33




TTE R

I

HEREL

7 A

V=

V=

@1i#%300C, HEAKMC
FEAERTE X, X LD
0.06 X  32.50

@1i#%300C, HEAKMC
FEAERTE X, X LD
0.57 X  32.50

@17#%300C, HEAKMtC
FEAERTE X, X LD

0.52 X  32.50
HEHI
PR
At
HER L
C #H + IR )
20.48 —  16.90

/0.9

( B+ +

M< < Mo < <

R ) /0.9

18.

18.

16.

16.

18.

20.

16.

16.

.95

.95

53

53

90

90

.95

53

48

.00

90

90

.70

2.0

18.5

16.9

20.5

16.9

1.7




|
HEKMEY) LRI E

T

UZRUARI T
(37#300C)

aryy)—r&E

TV—F o TE

LK T

£EIKHEC
(300 X 300C)

L=

N=

N=

N=

FHE LD
32.00

32.00

FHE LD
1. 00

0.50

2.00

32.00

62. 00

62. 00

2.00

1. 00

%

%

%

32.0

62.0

2.0

1.0




U A& @l #E B & 3000) (10m%4 0)

520 ‘
300

U {8 ;% (3% 300C L=2000)

1 )
BELZILA:3)

va
oot £ Bt #4 (RC-40)

95

675
500

80

100 30
]

340
540

v PR it B HAL =
UZRARIE: N= 10.000 = 2.000 = 5.000 & 5. 00
(3F&300C) ( L=2000, % & E=584kg/f# )

SEEGRE Y YA 7 VR

#rE X V= 0.340 0 X 0.030 X 10.000 = 0.102 m?® 0.10
(1:3)

FMERA A= 0.540 X 10.000 = 5.400 | m? 5. 40

(RC-40, t=10cm)

FmmHE I A= 0.540 X 10.000 = 5.400 | m? 5. 40




U i) 18] 5

a7 Y — bk #F (3 300) (=)
L | =
500
4 PR it 1 HAL =
a7 J—FE N= = 1.000 %« 1. 00
(3%, B=300) ( L=500, 235 # £=45. Okg/#X )

ZERY YA 7 VRRE RS,




U i) 18] 5

JVv—F v 7&E (T-25,300) (=)
o T
L]l B
TG 5
500 ‘::9§:J
% T it B EVANE S
TV —F o TE N= 1.000 | £z 1. 00

(8 754w, T-25, 300)
(GEHE~—27 A)
SEEGRE Y YA 7 VR

( L=500, 5 B &=16. bkg/#L )




;3 7K g C
(300 X 300C ) (102£59)
ok
300 x 300C
520
110 L 300 - 110
8 [ l
AvnR—kavy)—¢
5 P (18-8-25BB)
—
s EEEa vy )—+
= (18-8-25BB)
i
8 620 EL B4 (RC-40)
720
v PR 7 B HAL =
M FPUBHFES & N= 1.000 X 10.000 = 10.000 %t 10. 00
(300 X 300C) ( ZEHEBE=225kg/H )
JL—F 7% N= 1.000 X 10.000 = 10.000 #% 10. 00
(T-25, 300 % 300)
A2 N—FK V= 0.050 X 0.300 X 0.300 X 10.000 = 0.045 m® 0.05
a7 U—h
(18-8-25BB)
Hptar 7 U—k V= 0.620 X 0.620 X 0.100 X 10.000 = 0.384 m® 0.38
(18-8-25BB)
[A] b7 P A= 0.620 X 0.100 X 4.000 X 10.000 = 2.480 | m? 2.48
FMERA A= 0.720 X 0.720 X 10.000 = 5.184 | m? 5.18
(RC-40, t=10cm)
FemmHE I A= 0.720 X 0.720 X 10.000 = 5.184 | m? 5.18




oW

e TR &

T

T AT 7V NEEEET

A=

@17#%300C, HEAKMC
FEAERTE X, X LD
0.60 X  32.50

@17#%300C, HEAKMtC
FEAERTE X, X LD
0.60 X  32.50

19. 50

19. 50

19. 50

19. 50

19.5

19.5




SIS LRI AE

HERE B LT
22 ) — b
HERE P B L

T AT 7))L b
BRI L
(t=10cmlLT)

Sl
(TAZ7 7L 1K)
(t=16cmLL )

TR AL T

OB

(=7 U —1)

OE
(TAZ7 7L 1K)

ALY
(=7 ) — b)

WLy
(TAZ7 7L 1K)

A=

V=

V=

V=

@ BEa (i
FHErm R, P LY
0.12 X 32.50

FHEWrm X, P LY
0.60 X  32.50

0. 60 +  32.50 + 0. 60

SR« #&500. 6m, KT © L=32. 5m

ST L LY
3.90

ST L L0
19. 50 X 0.04
B L

3.90

B L
0.78

19.

19.

33.

33.

.90

.90

50

50

70

70

.90
.90

.78
.78

.90

.90

.78
.78

3.9

19.5

33.7

3.9

0.8

3.9

0.8




MET R &
MET

M= 27V —1
18-8-25BB

L=

MITEIE R - RAKPHER XV
32.50

32. 50

32.5




=4 N
M5 O =2~ 7 U — b (10m%4 )
v PR it " BAT =
a7 U—k V= 0.100 X 0.100 X 10.000 = 0.100 | m® 0.10
(18-8-25BB)
H Hkt A= 0.100 X 0.100 X 1.000 = 0.010 | m? 0.01

(TR B e, £ =10)




